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Is this Group for Examiner?: No
Botany

Section Id : 81356140

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 1 Question Id : 8135611921 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
—
& ) Ky Cisy A Gy
The above floral formula represents

DD BBEAED W PAECEAD D DA IS Voe10BeDIB?

Options :
Liliaceae
1 % DB

Asteraceae

] o,
5w B0
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Fabaceae

;. T8

Solanaceae

4 ToDD

Question Number : 2 Question Id : 8135611922 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is incorrectly matched?

Sod T°J° 28 50 23D WBTLAW.

Options:
Petro plant — Jatropa

DEA0E). — 2D

1. %

Biofertilizer — Azolla
5 % ED AP ~ wEY

Biodiesel — Chlorella

5
5 o DA E3ye5 £oer

Medicine — Rauwolifia
. LHto- d;’:‘f’%oﬁr

Question Number : 3 Question Id : 8135611923 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Dry indehiscent fruits of rice 1s

S56e5° &) ULy, BETES DOAW

Options :
Nut
208 (L DL

Cypsela
iﬁ:ﬂbﬂ“

Caryopsis
£33 DA

Legume

_ &:53;? 88 Doo

Question Number : 4 Question Id : 8135611924 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Euglenoids are characterized by

CPHTroE AIVE), VEETLD

Options :
Flagellated. Pellicle. Evespot

SFeiodndd |, 0, soe‘:‘}mszj
1. e

Flagellated. Pellicle. Marine

5 % STHOWLS , 2950, DAG
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Pellicle. Eyvespot. filamentous
. 295, Sotdthg) , Sodooind

Fresh water. Pellicle. Evespot

, 200D D, DL, Sotdehog),

Question Number : 5 Question Id : 8135611925 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following books with their authors:

Column-I Column-II
1. Families of flowermg plants i. Species plantarum
2. Lmnaeus i1. Historia plantarum
3. Benthem & Hooker 1. Hutchinson
4, Theophrastus 1v. Genera planetarium

& D) Q) fotran T CHONBV RBDENOC..

oI Sod-II
L DD ed H380h Jrotsy i ydD Fotrs
2. ¥Byowd i, YBoir Fotrod
3. Bord & e AL
4. BATFVD iv. S0 Fotrbo

Options:
1 % (1—ii), (2 —iii), (3 —1), (4 —iv)
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L (11D, (2—iiD), (3-1ii), (4—1v)
5 » (1—ii), -1, B—iv), (4—ii)

4w (A=), @—iiD), B—iD), (41

Question Number : 6 Question Id : 8135611926 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Lock and key hypothesis of mode of action of enzyme was given by

DoZ t':JU"]S Dt‘,}"a“bul 10y &°¥o Sy 0Boin &°Fo wa) 205030 DAF B

Options :
Koshland

_— E%“ocﬁ

Emul Fischer

L o DDeS 1236

Buchner

- mé&clﬁ

Kunhe

4, % SO

Question Number : 7 Question Id : 8135611927 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Bacterial DNA are used as biosensors in which of the following?

806 57" BI8 ergBanes DNA & e)dirr Dy6 I &DArAF@?

Options :
Food & Fermentation

e3:3%Go & §ﬁ§é§0

1. %

Biomining

, o B0 2ok

Medical diagnostics

;.1"’5@3 g o ilo o]
3. % o

Detect toxic pollutants

4 Do STROR STESTVRD (HBot

Question Number : 8 Question Id : 8135611928 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the eve of potato?

B)oITY CoDes” S0) 90DG

Options:
Axillary Bud

_— gTere) 20063

Accessory Bud
eI G 200
S n
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Adventitious bud

- wma}d.a ng

Apical Bud
£: 200
4, % 0

Question Number : 9 Question Id : 8135611929 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assertion (A): Water hyacinth 1s source of the water bodies

Reason (R): Offset 1s the asexual reproducer unit

NI 8o (A) : B EF), ABIIHOL T°6e0
sedeso (R): 0D ©ToNS DBV[BG DITETLD
Options :

Both A & R are true but R is not the correct explanation of R
1 % A 20060k ‘R Gollr 0 o0, A R 093 ‘A £ 08 ©and DI 6.

Both A & R are true R 1s the correct explanation of A
5 % A S08a3n R Sodr 20 220050, ‘R 0938 ‘A’ 55 28 ©0and D¢,

A false & R True

3 v A R0 8006 TN, R D0 00006

A 1s True R 15 false

4 % A R0 800G, 'R’ D0 0006 57
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Question Number : 10 Question Id : 8135611930 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following does not characterize a leaf according to Kranz anatomy?

Tod o6 0700 D500 Sod TS @) VL6 HT VA AP ?

Options:
Bundle sheath cells with large Chloroplasts

DG 78S TewaHew (v YouY) S Seren

Bundle sheath rich in RUBISCO
. DoRRY T LeTues” DY), JL) DT oot

C3 cycle in bundle sheath cells
3 % 3DoRR T gerud’ C3 Heobe bt

Bundle sheath cells rich i PEPase
o)) S sStren wds PEPase & gg S TAA T

Question Number : 11 Question Id : 8135611931 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Emasculation | 1. Prevention of stigma with unwanted pollen

b. Bagging i,  Removal of anthers from the flower
¢. Rebagging . When bagged flower stigma is dusted with pollen grains
SoBTIR BAIGAN:
2 QATAGAS | 1 STEaNd eTalNab DU B)e Ho Ay A Gotiw
b. &3hoh i, DOAE TR Qiayo Aool) S daind
c. B&hoh . S0 ) Ry S S DoBrvHS R3]0 Lo
Options :

1 % (@—iii), (b—1i), (c—ii)
, ¢ (@a—ii), (b—1), (c—iii)
3 % (@—1), (b—ii), (c—iii)

(a—ii), (b —iii), (c—1i)

Question Number : 12 Question Id : 8135611932 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The scar present on the seed coat is called

DB S50 G €0l DTN 2906080.

Options :
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Testa

| e D2 S5
1. %

Hilum
5 BTG

Tegmen
3 % Wodddas SHWBAD

Micropyle
oGO0

Question Number : 13 Question Id : 8135611933 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

According to pressure flow hypothesis. loading of the phloem sets up a

DEDS DT ?ag“ce:&o 25°00, T8 SnErecd I 677 Botito BAN D6YEN?

Options :
Solute potential gradient

, TS DOS IS

1. %

Hypotonic condition

| OOy TTES DB
o @

Water potential gradient

Ly D8 DI 35,

AP EAMCET 2020



AP EAMCET 2020

Isotonic condition
D TS fg@

Question Number : 14 Question Id : 8135611934 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s cotrect?

$08T°e5" D HDIDDAD PO OVIA?

Options:
Phloem fibres are absent in most monocots

- TS Snery Tow e VEGY Drods” Goddd)

Phloem parenchyma are present in most monocots

, 5 TS 20y Snrvo YT DEAY DV’ G0t

Phloem fibres are absent in secondary phloem

2 % g ez TroL BB NS S0reed Gokd)

Phloem fibres are absent in primary phloem
4 v TS 880 TOL TS IS Srrwcs” &ot)

Question Number : 15 Question Id : 8135611935 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Frankia fixing of N5 occurs in which of the following non-leguminous plants?

SIS D8R TP 570 2g) OS° BIS” Fododr dBaD g“:}ﬁ‘) 2006007
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Options :
Azolla

% OBY

Pinus

Alnus

@”,l:}

Riccia
&ﬁ‘-\}o.‘ir

Question Number : 16 Question Id : 8135611936 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Specialized reproductive structures form through fragmentation in

S008) o0 Bfbd (T g;éésmma BB\ DADT VW Dd:lﬁﬁrfh

Options :
Pinus

DD

Selaginella

DR DY

Anthoceros

5 % BBJTD
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Marchantia
4 533“0‘%%053‘“

Question Number : 17 Question Id : 8135611937 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many meiotic & mitotic divisions are required for the formation of 4 embryo sacs from
4 megaspore mother cells. m monosporic embryo sac development?

W fag D2 DotE3 e.aa;:magé‘, 470 G D ArdyEro oé 4 Dotk STV we;:}:%g
Soirect J) £obhste MBoky N dzzdw 2697

Options:
1. % 2,12

, % 4,10
3 % 4,12

4 v 210

Question Number : 18 Question Id : 8135611938 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

New systematics introduced by Sir Julian Huxley 1s also called
2D 0T BAD ) PRGBS A DA0otrE>?

Options :
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Phenetics

Biosystematics
2ICIT” DPITES
LN ]

Cladistics
ey

Numerical Taxonomy
FroaS HOECE TRo

Question Number : 19 Question Id : 8135611939 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Parbham Kranthi. which 1s resistant to yellow mosaic virus. 1s a variety of

R0 ey Avzrons THS DB S drpdody ::scr*ai') o) o) Dok)?

Options :
Sugar cane

| % BO

Tomato

Bhindi
3 Eots
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Maize
:msb ﬂ’a‘l

Question Number : 20 Question Id : 8135611940 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following was selected to construct the first rDNA by 1ts plasnud?

2065€) IDNA 80808" Socd D8) &) T B ?iaéﬁ 0 R0 ET) ?

Options:
E coli

Salmonella

L TE Ry

Agrobacterium
eof] erSBOIT
e B

Hemophilus

4% SPRATIET D

Question Number : 21 Question Id : 8135611941 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

Column-I Column-II
1. Spring wood 1. Narrow lumen vessels
2. Autumn wood 1. Conduction of water
3. Heart wood 1. Wider lumen vessels
4. Sap wood iv. Resistant to microbes

S0l TR ¢ DO

oo Sod -II
1. S50 ordd) L A B35 I (0 TOT YL
2. 3T i, 2 D6
3. @aejgm;@j ili. WTVA0NAD 9IS (0 TERT Ve
1. GREGD iv, ‘é}?ﬁ.& 25 s
Options :

- (1—ii1), (2—1), (3—1iv), (4 —11)
> % (1 —ii), (2 —iii), (3 —iv), (4 —1)
3 x A—D, (2—i), B—iv), (4—iii
4 % (1 —iv), (2 —iii), (3 —1), (4 —ii)
Question Number : 22 Question Id : 8135611942 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Quiescence in the seeds can be removed by

Dedreres” é.S::"EJ 2 Sofotd HOS
= Gy

Options :
Bolting

| % ﬁﬁgcﬁ

Scarification
- SRS

Vernalization
D) THENRD

3. %

Photoperiodism

4 % To8 TUOE

Question Number : 23 Question Id : 8135611943 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following 1s called stress hormone in plants?

:msbe.:ﬁ" 2 o 7a1 éf.z 293 DenScd 28?2

Options:

. » ABA

Auxin

> % Uéj&
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Cytokinin
255D

Gibberellin
AN aﬁ 9D
% =

Question Number : 24 Question Id : 8135611944 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Duplication of DNA can occur at which phase?

DNA 288,8 2 &#¢5° 2ddran?

Options :
Gg Phase
1. % G &%

S Phase
, v S&32

G, Phase

5 % G &%

M Phase
4 % M3

Question Number : 25 Question Id : 8135611945 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Ecological adaptation in xerophytes does not include

20BT°2e5° b m:stje.:e.‘i‘ 3508 VotloBS WRETVN0 TG DBoTSW.
Options :
Silicaceous epidermal cells

- Oseaine e BSO) SETen

Sunken stomata

) % ORCD DG Gogren

Aerenchyma tissues
3 TSNS SERPA

Well-developed vascular tissues

ezl @@ﬁgg BoBR) TYS” SLRFPVAD
4, %

Question Number : 26 Question Id : 8135611946 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following are extensively used in biochemical and genetic work?

308 TS ASCFODD BARL BV VBT HIVS" DRYBorT EHATAoBE

Options:
Alternaria and Trichoderma

- €503 Bk oBoIw gaﬁ“adé

Mucor and Rhizopus

m5?5 08030 BEDHD
2. # =
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Claviceps and Neurospora
TTDRDy 0803 AFE YT

Ustilago and puccinia

) w CS0DerF 2080k S \dasr

Question Number : 27 Question Id : 8135611947 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“Mineral 10ns are frequently remobilized” 1s not applicable for

D2 BAFVS odT IS’ 82y ABID ) S SdAr Gotran.

Options :

Phosphorous

Sulphur
5 fedsd0

Nitrogen

28720

3. % &2

Magnesium

?.Uﬁii}dim

Question Number : 28 Question Id : 8135611948 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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DNA strand separation enzyme

DNA J'sersn Do Do

Options :
DNA polymerase

DNA J'®9208%

1. %

Endonuclease

. o& Arsoird
2. % =

DNA helicase
3 ¥ DNA :>8s5

DNA Ligase
, % DNA 83

Question Number : 29 Question Id : 8135611949 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mathematically, growth rate 1s expressed as

(iE3ed TR DOV DEOMDER SfSo WOs D0

Options:

1.4 Lf- = LO ‘l_Tt
2 % LG:Lt—I_Tt
3. % Wi=Woe™
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4 8 Wo=We™

Question Number : 30 Question Id : 8135611950 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Example for crop improvement using mutation 1s:

&3,85680 T(TT DB DB DI DIBS emrron:
- oy o

Options :
Resistance of yellow mosaic virus in mung bean

v 200" HAPDEY VB P61 T7H B esS

Resistance of bacterial blight in cowpea

S2¢5” ergBoES 5 Brben T6 s
2. H L -

Resistance of chilly rust virus in chilly
- EHS” DEDH Brdew DEJ T(B b lofnl=ts

Resistance to white rust in brassica
e3Trend” 8w Brhen B DB S

4. %

Question Number : 31 Question Id : 8135611951 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Vernalization 1. Sudden elongation of internodes

b. Ethephon i, Ability of plant to form different structures

c. Boltng i, Ethylene releasing chemical formulation

d. Plasticity iv, Pre chilling treatment to induce flowering

SoQT AN 2BDEVAW:

a. D6)TBNS i 8898 SE0RY) Argare dibde

b. 23F il DSOS o7 ErdG 06 08 é"mgao

c. o iii. 269 a8\d 8 6Fowd Bergo

d. % iv. Qroqasdeon darvsn ao DT e or
Options:

1. % (a—iv), (b—iii), (c—ii), (d—1i)

) % (a—1i), (b—ii), (c—iv), (d —iii)

3 v (@—iv), (b—iiD), (c—1), (d—ii)

4w (@—ib), (b—1), (c—iiD), (d—iv)

Question Number : 32 Question Id : 8135611952 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Assertion (A): The rise i the rate of respiration leads to respiratory climactic
Reason (R): Ethylene 15 effective in ripening fruits.
A (A): ?S’coé,oij Bewes” DAGY ?“5?1:5-:1‘.’13 §;5.T°E§D§ DL o0 S0V,
sede0 (R): "aéb.f‘.i D06 DADVAL ér;ﬁotbe.iﬁe Sagc:am

Options :
A is false. but R is true
1w A R0 000 5T, =0 R 20 20056

R 1s false. A is true
‘A’ 20 90038, T°0) R’ 2B 90058 T°E0

Both A and R are true. R 1s the correct explanation of A
‘A 2080 “R” 20 @200, ‘R’ 0236 ‘A’ £ 2809002 Do

A 1s true but R 1s not the correct explanation of A
A 28 020056, 0 R’ 0936 ‘A’ £ HBeand JdHdn S

Question Number : 33 Question Id : 8135611953 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Typha 1. Free floating hydrophytes

b. Nymphaea i, Submerged. suspended hydrophytes

¢. Salvinia 1. Amphibious plant

d. Hydrlla iv. Rooted hydrophytes with floating leaves
0BT BBHGRIHWL:

a. B i Sy 880ird A0 2w e

b. Donosr i, 3P0 ABS" 20DB BB00DBINT ol 08 e

c. FOQoir | il &zobeis g

d e iv. S fo Sdaird Hgrew o g e

Options:
(a—1), (b—ii), (c—iii), (d—iv)

1.%
, v @—ii), (b—iv), (c—1), (d—iD
3 % (a—iii), (b—1v), (c—1i), (d—1)

4 % @—1v), (b—iii), (c—ii), (d—1i)

Question Number : 34 Question Id : 8135611954 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is not a feature of stiucture of DNA?
Sod T°2e5° & DNA DT eI Bt VL7
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Options :
The pitch 1s 5.6mm
1 « @>rCo 5.6mm

10bp i each fmurn
. D8 2065”10 326 2den Gododd

Distance between consecutive base pairs 0.34nm

. 28 2 rov 2090 mc,‘aé Arda00 0.34nm

H-Bonds confers stability

 ERD wotren RO BN

Question Number : 35 Question Id : 8135611955 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Transgenic plant roundup ready sova beans are resistant to

2] DOIGD To& D & ol DD Lo TOS° B DEGEI0?

Options :
Pesticide
| % DE THITD

Herbicide

ri:;e.:ré - Evioale]
2.

Drought
3. % SOV
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Pollutants

w
. S 0aY SeOSTeD

Question Number : 36 Question Id : 8135611956 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Staminode 13 a

gnaﬁé, RPN 208

Options:
Sterile flower

;ﬁoc;% a2

1. %

Sterile pistil
, 206 9068 5
2. %

Sterile stamen

3 v ;5@{;3?5 S0

Sterile ovule

) ;::::-c;ﬁzf} £906i )
4, %

Question Number : 37 Question Id : 8135611957 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following parasitizes the tobacco plant?

So& T°S” DB JrLd 2L S° SRVWE DT BD?
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Options :
Ascaris
[
- u&n&aﬂ:
Saccharomyces

5 % THTOID

Meloidogyne

3 v DEDEDTD

Bacillus

4 % ASTIR

Question Number : 38 Question Id : 8135611958 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Rubber does not swell in water due to absence of

LoBTDeS" 2E6E FIEA0 VD DS’ 62036 €t (8.

Options :
Osmosis

1 % ST DO

Plamolysis

, w SEES 2080

Imbibition
3 ¥ DDA
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Dittusion

4 % SROR

Question Number : 39 Question Id : 8135611959 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Sulphur is an important nutrient for optimum growth and productivity in

85" 0B DEOMDEVL S8oID ElegNallals ”@9.}35 ;fma.':?g J'880?

Options :
01l seed crops
1 @ WDV DSD Dokrew

Pulse crops

5 % £900°eD)

Cereals

S ECY

Fiber crops
0 Dotrew

Question Number : 40 Question Id : 8135611960 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dysgenics 1s the study of

Hey B8 e:}::;aéa:i.aa“:)rl 57,.;33% 2906040.

Options :
AP EAMCET 2020
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Evolution of Man
1 % TP DOETIAD

Improving human race

DD B DR
2. % =

Chromosomal mutations
. Sardo adpIgTen

Undesirable trials of the human race and genes causing them
" STRD S ), T oD POLT7) L0 000K T sBﬁ‘@Jﬂ esm5@w

Zoology
Section Id : 81356141
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135611961 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect statement about morphology of cockroach.

1) Head 1s formed by the fusion of six segments

1) A pair of thread like antennae arises from membranous sockets Iying i front of eyes
3) Tegmina are opaque dark and leathery and cover the hind wings, also helps in flight

4) In females, the 7th sternum 15 boat shaped and together with the 8th and 9th sterna form a brood pouch

&5'G08 ere] A(ArDa Boc) Sod Ladrrod’ 20 5208 Mool

1) 80 5t podere 0ons H0d bcbc.m

2) 8 8 TEa00 D)0y $0men I Ao eriwe” o Saine Mos ot JoyEmeon

3) B B3 Fod ABesaT Feurr &od DO0E.0R S)yBF Gotron. @D IS fal o

4) fg 28 72 GOSN D B 0d” G Bl 73, 82, 9 GodvTR) 885 e R0 Adydraw

Options:

1.% 1

Question Number : 42 Question Id : 8135611962 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect statement(s) from the following:

a) Labrum is called lower lip

b) Hind wings (mesothoracic) called tegmina.

¢) Gizzard m alimentary canal 1s also called proventriculus.

d) Exchange of gases take place at the tracheoles by active process.

e) The opening of the spiracles 1s regulated by the sphincters.

2B 20 T HIBDBA0/HIST VR KBotdel:
a) oA S8 DG WotTdd
b) Hoog (:.135_?5 D&o) BT otrdd
¢) eSO TALS (L odts 2EGoMA PO(Forw 2605 B ST WokPdd
d) SroinHe IR0 Train TRE0S” 2. Ad W "n}é,oirejéé ‘:‘565
e) ST TR GoTrw BExEIED) AoedFaw

Options:

(a), (b). (c) and (d)
1w (@) (b). (c) Sodcs (d)

Only (a). (b). (d)
a), (b). (d) g

2. v

Only (a)
3 % (a) Sorgdo

Only (b). (c)
4 (D). (©) @3S

Question Number : 43 Question Id : 8135611963 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Possible blood groups in children from the parents with blood groups ‘B* & ‘0" are

d@dogw dgégo ‘B’ 080w ‘0" oy 0 bg.gef TPIC=RS B985 H0 &) dgécﬂﬁo

Options:
Only ‘B” & 'O
1. ¢ ‘B’ & ‘0O doegho

Only "A" & ‘B’

> % ‘AT & BT S0

All blood groups

3 % ) 6S ST

None of these options are correct

4w D 2Te PBADAG

Question Number : 44 Question Id : 8135611964 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is correct regarding Mangifera indica. Solanum tuberosum
(potato) and Panthera leo (lion)?

308 T Qofind Woldse, Terdad E:U‘5EJ56 $2) 200030 ot DATrHL PotoBot) WO
00D T LBothdL.

Options :
indica. tuberosum and leo. represent the genera.

. QoC5”, w?gmﬁf‘%éo S0805n Odir 9NN HPAD DIrtotdA
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Mangifera, Solanum and Panthera are specific epithets

5 % 2008D6, FerdD 208011 FoGT” BRI 2SI TV

Mango belongs to Solanacea. Potato belongs to Family Anacardiaceae and Lion belongs to Camdae

- Srod- TodN, Loy (os- E.‘J.:)ngodb, NoaTAN- TG A% NotoBonN)

Mango belongs to Anacardiaceae. Potato belongs to Solanacea and Lion belongs to family Felidae

4 Araé- P.‘J.:}Sgiadi), RO (10~ VA oAV~ DDE DL DotioBondd)

Question Number : 45 Question Id : 8135611965 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a pond. there were 30 lotus plants m last year. Through reproduction. 25 new lotus plants
were added by reproduction in one year while & plants died. The birth and death rate for the
lotus population respectively are and mdividuals per lotus per year.,

2% S’ g R0I800 30 B0 DS) W SV, S VoG s 25 £
2080 PANS\S TPT° AB\EaN. Ak 8 g L0 AT aron ead 23 e
SuBain Aodes Bt dogh SdRT?

Options :

. » 0.83, 0.26

, » 0.26, 0.83

5 » 0.25, 0.80

4 % 0.80, 0.25
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Question Number : 46 Question Id : 8135611966 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the number of bones present in Axial skeleton, for each A. B. C. D listed below.

OFR Do2030 &' $0d A, B. €. D 08" 3050 Rop(0d 3u0)aw

Label/Goé Bones d3mEen
A skull )le}
B Ribs Sl
C sternum ﬁﬁf’g
D vertebral column DAY A0
Options :

| »A—=22, B-24, C— 1, D— 26

> % A—26 B-24 C=1 D—29

, xA—29,B—26C— 1 D— 24

4 %« A—39,B—24,C—1 D— 28

Question Number : 47 Question Id : 8135611967 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the given statements and select the correct option.
Statement 1: Zone of transition between two types of communities 1s called as ecotone

Statement 2: Estuary 1s an ecotone between marine and fresh water communities.

So6 RHWTTY BEFENTT W0 VAN VPFREW LBotiod.

D9 1: Totd) 1Y), £ oGErw AG[I Foddnd MRS Gotowm

DS 2: DG A T B3 DAE Hdakw 20098 HAraow 068 o DEerd
Options :

Both statements | and 2 are correct and statement 2 1s the correct explanation of statement 1.
- DIt 1 0Bk 2 Boter ROALA, PHWHBD 2 BAME PIPBEN 1§ VBAA DS6e

Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1

DILA30 1 20a% 2 Tokr WOADAD, S°D PIBIAD 2 BRI DABHIW 1 8 PO

5 DAG8 9368 52

Statement 1 1s correct and statement 2 1s incorrect
3 % DOHAAL 1 PO, DHWBHIW 2 2B D

Both statements 1 and 2 are incorrect
4% D000 1 08030 2 Tokr REAVAD 52

Question Number : 48 Question Id : 8135611968 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cleidoic eggs are characteristic of

Stmow$ evorren D g0’

Options :

1. %
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Mammals

26e

Insects

5« Stsen

Reptiles and birds
5 v BRI, DLW

Fishes

Question Number : 49 Question Id : 8135611969 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hypophyseal portal system 1s found in

N heTou T DTGEDT° BB D) ¢ EotoB?

Options :
Heart

Brain
7 o EED

Liver

Kidney

4 % Sarddotio
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Question Number : 50 Question Id : 8135611970 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Functional unit of nervous system is

e DR qI0E), Saired) S e

Options :
Brain
1 % <0G

Neuron

5 v TS0

Skull
s % W0

Veins

5,

4 % D08

Question Number : 51 Question Id : 8135611971 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dopamine 1s a type of

EDDD 9D 28

Options :
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Pain Killer
S fbj Dobed
1. ®

Neurotransmitter

> TC DT IrE0

Tranguilizer

3 % DT oD

None of these options are correct

4% @) 2778 PBCDAS B0

Question Number : 52 Question Id : 8135611972 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 15 correct?

a) The number of organisms can increase but never decrease once a population reaches its
CaITying capacity.

b) All population experience exponential growth once they reach carrving capacity.
¢) A population always grows rapidly once it reaches its carrying capacity.

d) Limiting factors can mfluence the number of organisms in a population onee it reaches 1ts
CatTying capacity.

o6 e’ 2 PN DO BoNNG?

a) W0 aTrer arOarard 348 S08Hd) ond e D02 DAXDEAOA 5°0) Sflodecd

b) ) aTre eddTod’ Q%“Dhaoﬁmﬁ DAMDER W8I ardarrs 353 dttotran

¢) aTEr w80 aroarard 383 AHERY) OB & BTL JVEP Fodom dArHEY ATV A

d) amrer wdd ardarard 383 S0 bond & T 2D Do HODBA 37 B0

P WD)
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Options :

1.% 8

Question Number : 53 Question Id : 8135611973 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During ventricular systole in a mammalian heart the

£6or08” TryE0DHAD Dol dL BEBEL Wl DIVAHIWS®

Options :
Ventricular volume increases
1 % WO0TT S0P000 DD0DT7EIN DGR

Bicuspid valve opens
5 % &5‘;’3@; Sar8)00) SIS0t d

Ventricular pressure increases and becomes more than the atrial pressure
 BOBST S3XR6 DEDDN HBH, SB5” LIG HEDIN S0 JL),D

Ventricular pressure mcreases and it becomes equal to the atrial pressure
, BOBST LIP6 HEDIW 1BH, S95° LG HEDING DATBMAM
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Question Number : 54 Question Id : 8135611974 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not the work of the mentioned scientist?

a) Georges Lemaitre first suggested the big bang theory in the 1920s

b) Solar System originated from a nebula was first proposed Johannes Kepler

¢) Haldane proposed that the primordial sea served as a vast chemical laboratory powered by
solar energy

d) Louss Pasteur showed that in pre-sterilized flasks, life came from killed yeast while in
another flask open to air, new living organisms did not arise from ‘killed yeast.
308 TIS° FHDE DB BB HI VO 26 HOIIS HRoWA.
2) DA rofi DgroB 1920 & VBT &§ T MU ATy®
b) 0 DrnoD FeNEr ol &GO B Eirdy 506 PATBore
¢) TGS BOTUY VG F0 35 & HOWR) w8 GFADD PATITOT PAFATH
d) 28 Soraanm &9 oY) 6 5ITow Y Wod B33 EGDODHG WAL BB

93 HAIDAREN PR, & AT &Y Mook §Y pBHY) 2Oa0 EOyDeTEd

PO iﬂ“a‘;)é AAPDOTE

Options :

1.% 8

2. % b

4.v d

Question Number : 55 Question Id : 8135611975 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Plant that does not obey Mendel’s law 1s

2Dotied 2R TV RVNBI D08,

Options:
Lberisamare

e aﬁ“&.“lmﬁ

Mirabilis jalapa

HNoeDHOD 2erDd

Cicerarietimun

L« D06 08835

Pisum sativiun

DD 2ESo

Question Number : 56 Question Id : 8135611976 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Human sperm was discovered by

DTN HOSSETLVA DOWDHE

Options:
Pander

1. ® anﬂda

Graaf

233[?“:3
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Leeuwenhoek

DRSS

Aristotle
. Eﬂﬁg"éﬁ

Question Number : 57 Question Id : 8135611977 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“Shortt & Garnham™ discovered

&vg 20808 TPOY PR SRFTDY

Options :
Anisogamy
R9Re) RoCir o

1. #

Schizogony
v Dol BdDDe

Oogamy
w ok RoliTrfio

Isogamy

4 % e MoOdT o

Question Number : 58 Question Id : 8135611978 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Respiratory centre 1s present in

TS0 Sodo D) & SO

Options :
Cerebellum

0B 0

Medulla Oblongata
mgﬂm o

Cerebrum
:::g:ucac:a

Hypothalamus

4% T

Question Number : 59 Question Id : 8135611979 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In which of the following 1s the word properly matched with its defimtion /meaning?
a) Spermiation - Release of sperms from Leydig cells in testes
b) Capacitation of sperm - Obtaining the capacity to fertilize ova by sperm.
¢) Chryptorchidism - Testicle remains undescended

d) Cervix - Neck region of uterus

208" D DI (Hored) o e}g;‘mf QO(ESDE0 DO 28 HOSLICAE?
a) ::Dﬁéam.ﬁ ~ rOSEPUR SNy S0 Aol FEh sy s B oD
b) #ogsn &mgémm - H0dEdn 39 &mgéal 2P0 STV T T,
¢) &0 ay — Ao en Ay Avan §°08 ot dod 28
d) (fonyB0h APETEEHN ~ (o7 30D Fedans” AWML AT
Options :

Only (a). (b)
s (). (b) 38

Only (c)
2. ® (c) 2o

Only (b). (c¢) and (d)
5 v (). ©). () g

(a). (b). (c¢) and (d)

4 % (@ (). () 208a3 (d)

Question Number : 60 Question Id : 8135611980 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Scales m Cartilaginous fishes are

D0yB0e°D) BH0e" do Jrevinen

Options :
Placoid

TS0

Cycloid
ISicyleilat

Ctenoid
3 x Oran&

Leptoid

Tarons
4, % T~

Question Number : 61 Question Id : 8135611981 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and select the correct option.

Statement 1: The exaggerated response of the immune system to certain antigens present in
the environment is called as allergy

Statement 2: The allergic tendency 1s genetically passed from the parent to the offspring and
is characterized by the presence of large quantities of IgG antibodies i the blood.

& S00T IS’ 28 0D VIBVAVW :Détoig A

DI 1: Tersnsw & §Q) HoudTLL BB ES 4R eﬁbgg"oné‘
£9:03050e0 2000036000 ©F R0 B8 (vﬁgj £90) e9otTE)

D30 2: 658 v5na D0 ol DY © VoS Bokrd 2oty IgG
28 6557 B¢ Do $DA Gotrow

Options:

Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.
1 % 99600 1 HBakw 2 B RI0DA, 25D 2 BRVAE 1 AL B LoD 566

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1

5 % DIINA0 1 0805w 2 DB 90Ha), DIBAAD 2 NG 1 A DB Lo DS6H W

Statement 1 15 correct and statement 2 1s incorrect
3 ¢ 20 1 A0 0000, R0 2 R0 oAHE TR0

Both statements 1 and 2 are incorrect

4 % D98I0 1 H0dosn 2 BB oD 57

Question Number : 62 Question Id : 8135611982 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Graatian follicles occur in

DO e I & SON?

Options:
Sperm
1 = BUSSEI0

Ovary

fgé)zagéo
2.¥ <

Testis

Question Number : 63 Question Id : 8135611983 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Complete this paragraph by selecting correct sequence of words:

Several genes called (1) have been identified i normal cells which when activated will turn

mto  (2)  and under certain conditions. could lead to cancerous transformation of the cells.

§o8 DTS’ 1 0B 2 VA KBotsod:

Foron srod srer ed¢ (1) Bowgron. & adpew §9) b&?gmmﬁ‘ Soird)s
_ () b Frron smren 300 Smreor Ay Sodoerow.

Options :
(1)- Oncogenes (2)- Proto oncogenes
- (1)- e50E88.Dy (2)- 'e5° €508 8Dy
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(1)- Cellular oncogenes (2)- Proto oncogenes

- (1)- S 5052y (2)- '¢5° e508 8Dy
(1)- Proto oncogenes (2)- Oncogenes
3 (1)- gﬁéﬁﬁ ﬁoﬁﬁéﬁb 2)- e_eoge.%..f:.ﬂ\]
(1)- Oncogenes (2)- Pro oncogenes
L w (1)- e30E8Dy (2)- T oS8y

Question Number : 64 Question Id : 8135611984 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Ascaris belongs to nematode and Taenia belongs to Platvhelmenthis. but they exhibit which

of the following as a common character?
), 69 DAFEE Do, Soir é“é%b“&iéoéi} A% BoBIB 5D & 08 THS° D

©£00 Totd BHAT HE0YR?

Options :
Sexes are separate(dioecious). 1.e.. males and females are distinct.

1% D500t LR AT 204, e3¢, 2D DEODENT &obrron

Fertilization 1s internal and development is direct

, 036 DudpnHn dakn DAL 2ot DB)3

bilaterally symmetrical and triploblastic

ALGy . a1 S0dodin GRdS

AP EAMCET 2020



AP EAMCET 2020

Hooks and suckers are present

£8) %0 Sodoin Brdazren SO
4.% >0

Question Number : 65 Question Id : 8135611985 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The first transgenic plant is

200658 2A[DODHBS A0S,

Options :
Tobacco
1.+ ﬁ“rT"E‘.J

Maize

5 % mjsbﬁ’é;l

Tomato
3 % LI TR

Potato

4 % BOTTE oD

Question Number : 66 Question Id : 8135611986 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arvtenoid Cartilage is found in

DBOTOE DoyderD sDARS
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Options :
Nose
;ms%

Larynx
R 5-:52::&35

Sternum
ope)
]

Hyoid
Folent e bblnl

Question Number : 67 Question Id : 8135611987 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Alkaline nature of bile is due to

2[00 EOMIE0S) 57080

Options:

, o NaHCO;

4 % KOH
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Question Number : 68 Question Id : 8135611988 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Protozoan are usually

ez e Joedeo

Options :
Multicellular
1 % BETVEN 2oV

Unicellular
5 DEse Eaen

Tissue grade

g2 PO
3, % e

None of these options are correct
4 % @ 2T POADIG 5D

Question Number : 69 Question Id : 8135611989 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Urea synthesis takes place in

cdooBaio” Sairod DEBo

Options:
Kidney
1 % Sardhdotio
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Liver
s odo

Urinary Bladder
3 % SAPZTEe

Alimentary Canal

4 % BTFOT Vo

Question Number : 70 Question Id : 8135611990 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following statements is incorrect about “test cross™?

Sod DIDT S “Eig__'.} 57" (D80 B 57 DHWAIL MBotidaw.

Options :
It tests whether an unknown individual is homozygous
2,8 30a B8 DIVARVML A0 B WBWEIS

The test individual is crossed with a homozygous recessive individual

2.8 S8 D0 “n}moﬁnﬁéamﬁ RS Il D ATt T

If the test individual 1s heterozygous. the progeny will have a 1: 1 ratio

208 modedd S8 Diy kv arerT ATBocann. Bibd dTen I:1 A BY” Gotran

It the test individual is homozygous, the progeny will have only recessive mdividuals.

4 D8£ odedd B8 P25 2% B0NS B STTeD Jrod| SjHe0 S
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Question Number : 71 Question Id : 8135611991 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The ‘Coelom’ was coined by

“3862060" @93 Do DATHLIE

Options:
Bentham

Haeckel
, v TBS

Robert Brown
o A TO RN AN
) (5]

Robert Hooke
o mmg 0SS

Question Number : 72 Question Id : 8135611992 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The branch of “Histology™ 1s also called

SRPOT RO & Sobd DBoTT SFE° DRVJ'D

Options:
Anatomy

_— woejﬁlcﬂémfgn
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Micro-Anatomy
ArE) ©odl)Tr 6T o

Cytology
SE3ITRo
H 'L__d.-"

Nomne of these options are correct

4% @ 2TED VBALIS W

Question Number : 73 Question Id : 8135611993 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is a bone of skull?

SofTe5° 1PHT DAWE (dDBotdod:.

Options :
Pterygoid

1« SOmroné QA0S

Femur
a3 s

Atlas
%‘gtﬁfﬁo

Tibia
e90eh oS
[~]
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Question Number : 74 Question Id : 8135611994 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In whach of the following. the hormone 1s mcorrectly matched with its source and function?

Hormone Source Function
(i) | Glucocorticoids | Adrenal Cortex Produces anti-inflammatory reactions
(ii) | Vasopressin Posterior pituitary | stimulates reabsorption of water and electrolytes
(iti) | Parathyroid Thyroid Decreases the blood Ca®™ level
(iv) | Melatonin Pineal gland Maintains sleep-wake cycle

300" HEL, ety el pFzaw, DATD IFTOS VBT 2 5 A Hocod

80 & eabs 840 26
() |drETirone | ob )% s0poan | Bo Eagos o S Swed
i) | T 0 wtwghad A, JETE xR Dridosinn Saed
(iii) | aropBand Boné 6ga06° Ca”” o efiron
(iv) | 200tSD0 DAL b G, DHDHIL HOOIFD) EEVREVIA
Options:
. % @)
5w (1)
3, v (i11)
4, ® (iv)

Question Number : 75 Question Id : 8135611995 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which 1s the largest bone of middle ear

;:uc;’>5 Ba) Do) o eadd :::g: a0

Options :
Cochlea
s*Soir

1. %

Incus

5w ©®

Malleus
v sSrtasSo

Stapes

(o plels: o b
4. % €a sl

Question Number : 76 Question Id : 8135611996 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Arrange the following steps involved in tDNA technology in right order:
a) Obtaming the Foreign Gene product or Recombmant product
b) Downstream processing
¢) Isolation of the Genetic material (DNA).
)

d) Insertion of desired DNA into plasmid and Releasing of recombimant DNA 1nto Bacterium,
e) Amplification of DNA by PCR

1DNA 083585 dotoldod) Sob (00 1 €00 S2A0S" B30G0l

2) D3 For PIHJoIrag 2P Totbd

b) &5 %&3 560 6 08 Satob

¢) A ;’Jc:i“g".ﬁl (DNA) 2t Bodoty

d) 55820 DNA & )¢ 6'98 Hd¥oLb Lo PD00arad DNA & esv%&cmv
&5°8 Db Btk

e) D086 How 56 (PCR) or(o" DNA & w068 ‘5305356“ &3 Bathowy

Options:
1 % c—we—-d—=hb—a

> x e2>c—>d—oa—b

3 d2e=>c—a-b

4¢c—>e—>d—}a—>b

Question Number : 77 Question Id : 8135611997 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Statement 1 -Arthropoda 1s largest phylum of Animalia which includes insects,

Statement 2 -Over one-fourth of all named species on earth are arthropods

DDA 1: Suso Srem DAY Bod TS D6 630 Ugﬁﬁc:ﬂ

DBV 2: Frdd s 2 $9A% ardowd’ TOS Sodd ardoen agf}ﬁmsb BodID

Options :
Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.
1 % 200000 1 bk 2 2o RI0NA, POBIVAL 2 DG T AL DB o v

Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1
5w ROBO30 1 dadn 2 2B RI0VA), VBN 2 DG 1 A BB oD D6 S

Statement 1 18 correct and statement 2 is incorrect
3 ¢ 20530 1 2O 2aHE 003D DHIBHAL 2 DD =

Both statements | and 2 are incorrect
4 % 200 1 2060t 2 Tt A8 57

Question Number : 78 Question Id : 8135611998 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Alimentary canal is absent in

%g T 5 o &)

Options :
Planaria

| D80S
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Liver tluke
956 rs

Blood fluke
- W& PS

Tapeworm

28 LHEHD
4v 8%

Question Number : 79 Question Id : 8135611999 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Theory of abiogenesis was conclusively disproved by

€921 GIT ZDD i:ug“oe:ﬁ;fm Sy B DTN

Options :
Conducting swan neck experiment by Richter

- B3 AINE) 0 WE JR), ROITHDD TO"

Conducting broth experiment by Spallanzam

- RN 2R GESHNN DLV DATTADL TO

Conducting swan neck experiment by Pasteur

v T30 g Lo W FR), VAT HEL TO"

Conducting maggot experiment by Redi
. Be DD (Sorgdn) HAFHA (T
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Question Number : 80 Question Id : 8135612000 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Pyramids of Biomass i1 pond eco-system are

BED) 9D BT D6 ;ﬁéb‘ga‘i‘ LIS HEDE DT Gotwod

Options :

Upright
| QP

Inverted
. SeSocen

Linear
3 x SCORTT

Irregular
4 % OFTOe0

Physics

SectionId: 81356142
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
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Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612001 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Distances travelled by a body m first three successive equal intervals of time are i the ratio
. 1f 1t starts from rest and moves with uniform acceleration.

0080 Aod LohHendsd ‘r\}mésdﬁmg DOLrEdord SRV EE L) SEWR VAFD
S0 (30" pairded Grov A3

Options :
1 % 1:2:3

2w 1t315

3 % 1:2%:3°

4 % 1:3%:5°

Question Number : 82 Question Id : 8135612002 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A parallel plate capacitor consists of circular plates each of radius 10 cm separated by 2 mm. If
the charging current be 0.2 A. What is the rate of variation of potential?

5’“,35“85” 10 cm 60 HTPF6 DUSVE B VATFedE HVE EFrHRE & Hugw 2 mm
D" Gorsarran. J8 0.2 4 DS & ed608Y, 6 TOYAHS Ardy G0 Jod?

Options :
1. ¢ 1.44 % 10° V.s71
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, % 2.88x10° V.s7!

3 x 072%10° V.5

4 % 0.36x10% V.57

Question Number : 83 Question Id : 8135612003 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In the given circuit, if the ammeter reads 5.0 A and voltmeter reads 20 V, the value of

resistance R 1s

3068 BrHS Hueet” 06 5.0 4 00, 5T k6 20 V 00 Ardeiideond,

Do R Dend dodh?
R
) WA
54
(v)
Nl
20V
Options :
1. ¢ 282
) % 100 Q
3 % 0.25Q
4. % 0.5Q
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Question Number : 84 Question Id : 8135612004 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two hot bodies B; and B, have temperatures 100 °C and 80 °C respectively at time t = 0. The
temperature of the surroundings is 40 °C. The ratio of the respective rates of cooling R, and R,
of these two bodies at t = 0 1s

t =0 ¢ 100 °C 208as 80 °C ﬁgﬁ{j@ 98 B; 0akn B, & Bot &3 R0 40 °C
DBRvTY &%ﬁgé D6 &Iyon. £ =0 24 8 30d<om Gew), Ry 0Bab Ry © A8 =

Options :
1. Rl : RE = 3 . 2
2 % Rl : Rz = 5 ‘:1‘

Question Number : 85 Question Id : 8135612005 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An unknown resistance R, 1s connected in series with a resistance of 10 Q. This combination is
connected to one gap of a metre bridge while a resistance R, is connected i the other gap. The
balance pomnt 1s at 50 cm. Now. when the 10 Q resistance is removed the balance point shifts to

40 cm. The value of Ry 1s

28 B0aHA AW R; © 366" 10 Q ey 880 & Dodirm) a8 D066 e aog),
08 08" 8. D¢ Bocksd 708" A R, ST, Rodowd Tty 50 om 3¢ &) 6.
)t 8 10 Q Werdy Sohy dodowd T 40 cm S¢S Srddd. savsd, Weaw Ry

IV

Options :
1 = 60Q

5 % 40Q
30 20Q

4% 109

Question Number : 86 Question Id : 8135612006 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum and minimum tensions in a string whirling in a circle of radius 2.5 m are in the

ratio 5 ¢ 3. Then. its velocity 1s m.s !

25m a"érﬁ“go e s.‘)ag“s"ﬁoéé 808 o 03))5% ﬁ&ﬁor{ anBoin SD‘&E:} ééﬁév 3“13‘*?? B33
0ond, o o= (m.s™! o)

Options :

1.% 7
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3. % V49

ﬂ
WO
=

Question Number : 87 Question Id : 8135612007 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The change in internal energy of real gases is given by dU =

28 Dz TA0Y) DNE); WoB6S 38S” A6 dU =

Options :
1. ¢ CdF

, x CpdT

- (€, — C,)dT

4 % RAT

Question Number : 88 Question Id : 8135612008 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A thief stole a box full of valuable articles of weight ‘W" and while carrying 1t on his head
jumped down from a wall of height *h’ from the ground. Just before he reaches the ground, he
experiences a load of

208 Botf ‘W i) (10 S0P D S &atED *h” Ao e Hekd Mool Ard hAS
AP3TPE). 20D BHS006) BBE) BRIZBD TEAW

Options :

1.v 0

w
2. % 2

4 % 2W

Question Number : 89 Question Id : 8135612009 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the coefficient of friction between the rubber tires and the road way 1s 0.25. Find the
maximum speed with which a car can be driven round a curve of radius 20 m without
skidding. Given. g = 9.8 m.s >

SSCEJSJ; Gean 6o SO 68 Duges rasdw 0.25 Bans, 20m J"éﬂ“g;‘m fio Do)
Argne’ w8 T 2O dod (B NS Dosredowdedy? (g =9.8m.s7%)

Options :

1.8 O m.s™}

—1
> 7 m.s
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1
% 10 m.s

4 % 14 m.s 1

Question Number : 90 Question Id : 8135612010 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A copper rod of length ‘[” is rotated about its end. perpendicular to a uniform magnetic field ‘B’
with a constant angular velocity “w’. Find induced e.m. f. between the two ends of the rod.

I TED) o w8 Th séb @) D90 DT 28 DATodE LI 08 EFAD ‘B’ § LoV
o), 0 Sedab S ‘@’ § giomo BT, &5 $6& B0 DY S0y HOS TS w0
Dodd?

Options :
1 % 2Bwl?

Question Number : 91 Question Id : 8135612011 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When two prefect gas at absolute temperatures T; and T, are mixed. there is no loss of energy.
If the masses of the molecules are m, and m, and the number of molecules of each gas are n,

and n, respectively. then find the temperature of the mixture,

20 aggejw T; s0badn T; ;5%? i) Got ud)d; T A30HVAD S%é@bm, 33 AT
8. €5 TP05N e 9:150“5\:9.13 SERT™ my, m, BAIN T8 Arenw R0 el oy
Ny, Ny B0, &3 3 &gﬁf_’}é Ben)AD.

Options :
1 % Iy 415

T{+T5

2 &

n1T1+ﬂ2T2

3 ¢ nl+'f1.2

T 1Tl_ﬂ.2 Tg

nl+TI.2

Question Number : 92 Question Id : 8135612012 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The depletion laver of an unbiased p — n junction.

35‘355@&5 p — n Pode" G Jroctoes”

Options :
Has no charge carriers

| E50% TUIETTAN Golisd)
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Has only electrons
DUFT HrGa 9 Gotrow

Has only holes

AP EAMCET 2020

3 % Cogren 2@ £9A &otrow

p — n junction has a weak electric field

4. % P

Question Number : 93 Question Id

— 1 Do Q6L DAS TAH0 £9A cotod

: 8135612013 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of volume 72 cc floats with 3 /4™ of its volume under water. Find its density. given

density of water is 10° kg.m ™3,

72 cc 0RDBATRAN (0 S0 3/4 3 S0tk DS AL BDOLPEBR0B. B,

& S0 Fogied [D8 Foge 10° kg.m™]

Options :
1 = 7500 kg.m™3

5 « 750 kg.m™3
3 % 75000 kg.m™>

4 % 750000 kg.m™3

Question Number : 94 Question Id

: 8135612014 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The magnetic field. of a given length of wire for single turn coil. at its center 1s *B”, Then its
value for two turns coil for the same wire 1s

286 Teksd) (0 28 S50 28 BRI BB\ @ Sogs Do 3¢ BaHI o8
850 ‘B’ &8 Ak Botd BRI 820836 & waﬂn&boé 20 2ensd

Options :
B
1.% 4

Question Number : 95 Question Id : 8135612015 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A large magnet is broken into two pieces, so that their lengths are in the ratio 2 : 1. Then,
the pole strength of the two pieces will be in the ratio

TePew 21 1 B Goll o w8 DG ©AHI 08" Botd 2 I ST,
90, & Dot W) & BTV A dod?

Options :
1 % 4:1

o % 21
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3% 132

4_1‘_4,,,1:1

Question Number : 96 Question Id : 8135612016 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A comn placed on a rotating turn table just slips if if 1s placed at a distance of 4 cm from the
centre. If the angular velocity of the furntable 1s doubled. 1t will just slip at a distance of

Fonand’ &K)l AR 8V So@an 06 4 cm GrEANES” 28 THEIVA Son)d 0d
2P dto NGO, &8 LY a1og) e Seiob ) Boxy) BOLIT, & TAELN Jod

Qg ;.‘:r:éjﬁ AL A0GEVPHD?
Options :

1. ¢ lem

9 % 2cm

3 % dcm

4 % Becm

Question Number : 97 Question Id : 8135612017 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When the distance between two charged particles 1s halved, the force between them becomes

0o 870 ¢ GrTrR) Wi BN, T D oS £9:)).

Options :
One-tourth
1 % TPROND Dod

Half
5 % A8

Double

3 % ﬁ&écﬁ"}_}

Four times

4 TOfodw

Question Number : 98 Question Id : 8135612018 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If an automobile engine is known to develop 1472 W at 60 rpm. how much torque does it

exert on the crank shaft?

28 520086 00 60 Tpm 3¢ 1472 I 30800820008, B T8 D D68
2B &), dos?

Options :
1. 234 N.m

> % 200 N.m
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5 % 1000 N.m

4 % 134N.m

Question Number : 99 Question Id : 8135612019 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Electric charges q, g, —2q are placed at the corners of an equilateral triangle ABC of side [. The
magnitude of electric dipole moment of the system 1

[ Zozdw TS do ABC 63 daeraw ddadw aS), AP %g“e.,r 96 4,4,-2q
STV GoTd). & 5% e[S GJS graug DBArRAL BeR)AW.

Options :
% 4

Question Number : 100 Question Id : 8135612020 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wavelength of an electron having energy 10 keV will be
10 keV 33 o Dug‘*m ad0), éﬁoﬁ@_ﬂ%m
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Options :
| % 012A

, w124A
3 % 124

, « 1204

Question Number : 101 Question Id : 8135612021 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The temperature and pressure at which all the three phases of a substance coexist is called

08 DEFEAD AE), Sured fgmw 280 890 &0l e‘g;ffj@ STV 9060,

Options :
Sublimation point
ST S DoY)

1. %

Regulation

- DRGAB BV

Triple point

5 o 88 Do

Fusion point

 0DBAD Fdo
4, % P
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Question Number : 102 Question Id : 8135612022 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the relation between ‘x” and ‘y’. when a body starting from rest. moves with uniform
acceleration and travels a distance x in the fust n seconds and y in the next n seconds.

O ?8@ Aot LohHendd mmasaemnéf DAITHoD 28 SRV DAES n DS 1”7
BB, TS n DEVS” Y " ArGSD HOIrEY, X,y © s:uc_&g 0800

Options :
L, 3K =y

2. % X=3Y

Question Number : 103 Question Id : 8135612023 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capacity of a condenser is 4 X 107 F and its potential is 100 V . The energy released on
completely discharging it 15

WS Sl 50 4 X 107° F 080t fﬁ“ﬁi})oﬁ:ﬁ 100 V. e900. B Q0T 83360
WODTT DeNSE 3 Bewa)w.

Options:
1.« 0027
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5 % 002517
3 % 0.057

4 % 0107

Question Number : 104 Question Id : 8135612024 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What pressure should be applied to a lead block to reduce its volume by 10%? (K = 6 x 10° N.m™?)

08 S0 B, 2IOBIrTD) 10% Aot dod AT EIrHomd? (K =6 X 10° N.m ™)

Options:
- 8 —3
1 % 0.6 X10° N.m

, ¢ 6X 10% N.m™2

3 % 0.6 X 10% dyne.cm™2

4 % 6Xx10° dyne.cm™?

Question Number : 105 Question Id : 8135612025 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A beam of fast-moving e-particles were directed towards a

thin gold film as in Geiger-Marsden experiment. The parts

A'. B' and C' of the transmitted and reflected beams

corresponding to the incident parts 4, B and C of the beam

shown in the diagram. The number of alpha particles willbe ~ —e—u_/

A A

ed{od 2 (0 a-8E0 YozF) 28 BB-DWD

OTPE:Y) B8 D DELED BT, DAY’ SrD DA / \,{\
A, B &uBaty € oaren 859 2E@ 4 C' 0 8% Pd

ot podrtdot), B' HTra0a0 Botraw. THE a-Smro

rooas5

Options :
minimum in B’ and maximum in C’
B’ &5° 53‘%’1&‘3&3 S8030 C' o5 ﬁﬁfﬁ;ﬁm

maximum i A’ and munimum 1n B

A’ &5° 68030 2083w B &5 €550
2. 2 5

minimum in A’ and maximum in B’
Al &5° Sb‘%‘{m So8aodw B 5° ria*g;:m

minimum in ¢ and maximum in B’
C' e5° 5.5)?9;3;3 Sob8odw B &° ﬁﬁ‘fﬁ;ﬁn

Question Number : 106 Question Id : 8135612026 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The plates of a parallel plate air capacitor of capacitance *C” are separated by a distance ‘d
If the separation between the plates is made 1/5" and a medium of dielectric constant 2 is
introduced between the plates. find the new capacitance.

DUgL Jd ). drdo ‘d’ o 28 HATSE Doty SoGyD Sarad) (€. Hose 36y B
?gc"os.‘m 2 flv AIrds) God). T 6] Groed) 1/5 S Sodo dobrr. & o

Options :
1.% 2C

2.% 5C

, u 25C

4 w10C

Question Number : 107 Question Id : 8135612027 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When does the angular momentum of a system of particles remain constant?

w8 SrrY ;35:1“%: aE), Eedod gbs;ﬁﬁo VNS ?gden“ GotA?

Options :
When no external force acts upon the system

e 26 DeDDol) ETPETHIVE DI BOLIYYE

When no external torque acts on the system

DO S D DBA0a0D eIe(e00d0r), BradSe DLVADRIYHED
2. =

3. %
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When no external impulse acts upon the system
;ﬁjs;ﬁ‘éj} DG S0 ey D EBDE00 DABODRDIDHE

When axis of rotation remains same

. 920001 Fa0E3 LWVR0 RDI"RICNAEY)YED
4

Question Number : 108 Question Id : 8135612028 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the length of a simple pendulum increased by 2%, its time period

28 LG VL0 VG, TEDA 2% oI, T BIGH SVo

Options:
Increases by 2%
1 % 2% oA

Decreases by 2%

2% &
2 ® a

Increases by 1%

Decreases by 1%
1% ?jf{"bm

Question Number : 109 Question Id : 8135612029 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The core of a transformer 15 laminated to reduce energy losses which occur due to

408" B Hud 33 Ao égor:’at:":)é 283G Aiwg), S0 &FTTRY Tos SO TD?

Options:
Resistance in winding

_ thditio EEJJSET D SGe
1. F ED

Eddy currents
- Dciw DS DISien

Hysteresis

e e e e 0
3. ] 5]

Potential difference in winding

4 totacio 0I0E) ﬁ"ﬁ,go:bej £3589

Question Number : 110 Question Id : 8135612030 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At what speed. the velocity head of a stream of water will be equal to 40 cm of Hg?

28 A 06 40 cm © Hy G808 RAFRINED{0EIN TS0 DT 020 Jod?
Options :
| v 2828 em.s7!

, % 432.6 cm.s™!

3 » 632.6 em.s™t
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4% 832.6 cm.s™ 1

Question Number : 111 Question Id : 8135612031 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The munimum and maximuim heights attained by a child on a swing from the ground are
0.75 m and 2 m respectively. Find hus/her maximum speed.

GODVY" 28 DYTE SPIND G (. Ardv0 Mot & &ADY Jodre 183, S ey

G 0.75 m 208050 2 m a0y, & riﬁ‘éﬁ.:; 36 Dodd?

Options :

1. % 10 m.s~t

5 @ 5 m.s!

3 % 8 m.s !

.15 m.s7 1

4. %

Question Number : 112 Question Id : 8135612032 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the refractive index of water 1s 1.33. find the speed of light in water.

58 ag), H2HHD Moeago 1.33 9000, HOS° 5°0A Dfo doeh?

Options :

AP EAMCET 2020



AP EAMCET 2020

« k33 x10% .zt

8 —1
P 2.25 %10° m.z
e 3%X10%® m.s7?t

« 4%x10% m.s™1

Question Number : 113 Question Id : 8135612033 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A gas performs nmunimum work (in magnitude) when the process is

S08 @ HEaDS” w8 Troiw 26D DI Sﬁgﬂp?

Options :
Adiabatic
&'aas

£5

T

Isothermal
B0 agﬁaeﬁ

Isobaric
258 DEDS
@

Isochoric
%cﬁ 200DBATEAD
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Question Number : 114 Question Id : 8135612034 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which physical quantity. maximum percentage change will be observed. when
a copper sphere 1s heated?

28 Th Fivd) D& BRIDD, S8 O TBLTIS" (1B Ardy TS0 SLOL?

Options :

radius

a“é&dm
o

area

DT VDD

volume
WRD0aT7 0

length

4 x Te

Question Number : 115 Question Id : 8135612035 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

T.V. signals transnutted from the surface of the moon can be received on earth. But T.V. signals
transmitted from Delhi cannot be received beyond 160 km distance, Reason being

@i &b Aol PIGo BN T.V. Dedorody Br2) Barotdiivdw. =), ci@ ot
D00 B T.V. doderen 160 km Grde oré derorsdawn. &S 5°6to
Options :

1. %
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There is no atmosphere on moon
Wo@IA: TrErH0te G0

Strong gravitational force effects T.V. signals

5w BORIR OS] weren T.V. RoSTrUA DIrddo Walto

T.V. signals travel along straight line. they do not follow the curvature of the earth
3 @ T.V. do3Tran AEY S 533“(30&36 DOIrBY 0. A B CaS), 20NN BB

There 1s atmosphere around in earth

4% ZIa WO TEHGM0 Gotold

Question Number : 116 Question Id : 8135612036 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A heavy uniform rod is hanging vertically from a fixed support is stretched by 1ts own weight.
The diameter of the rod 1s

w8 BIER0R B0 Aol SBSTR) w8 WART 56 e BoLREIB. & S¢ T

(08 e 0N FEGELRES. LS, & sg g, T

Options :
Smallest at the top and gradually increases down the rod

| 56 B arMied” S5, 8088 S0 DEONMD

Largest at the top and gradually decreases down the rod

§ SG D ePodS” DL D, SoBS BB B
2. =

Uniform every where
3 % DSOS GotOR
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Maximum in the middle
“ m¢5é‘ r&ﬁ:’.ﬁ.;;;ﬁ:n

Question Number : 117 Question Id : 8135612037 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a transformer 220 AC voltage 1s increased to 2200 V. If the number of turns m the
secondary are 2000, then find the number of turns in the primary.

8 HBGSAN AC Sz 220 Sgoo &oct 2200 S Hoted. (e Srictody Roa; 2000
o, EDS Srf k) Vo] Jod?

Options :
1.« 200
> % 100

3. % b0

4 % 20

Question Number : 118 Question Id : 8135612038 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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2 4 i
In thermonuclear reaction 3 \H —— ,He + H + jn + 21.6 MeV. the percentage of mass

converted during fusion in to energy 1s nearly

4480038 90 3 (H — jHe + H +gn + 216 MeV & doDaiw S0 o3 #4
20 T TEE)T

Options :
1 % 10 %

5 0.4 %
3 % 1%

4 % 0.01%

Question Number : 119 Question Id : 8135612039 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The diameter of a steel rod is 8 X 107 m. What force is needs to stretch it by 0.3% of its
length? (Y = 20 X 10 N.m™?)
Y =20 X 10" N.m™ 0 28 oo €6 TR0 8 X 1072 m, &0 T 0.3% Fobadeds

Dodh 800 5°T0?

Options :
105
1.‘_,3}-:1[] N

, % 1X10°N
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4 % 4%X10°N

Question Number : 120 Question Id : 8135612040 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A particle executes S.HM. of amplitude 3 cm. If its acceleration at the extreme position is
27 cm.s ™2, then its period is

Y W@éé oty &) Stdo €008 3 cm Aok woé&g"ao ég S(eao

27 cm.s 7% e0omd, TFR) BIED TR0 BLIDAW.

Options :
1 % 3s
2. % 4 s
3.+ 2 5
4. % 1s

Chemistry
Section Id : 81356143
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 8135612041 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following starting materials undergo substitution reaction with retention of
configuration with concentrated hydrochloric acid?

e EE08 g B6[8” & dod IS’ D TS e (Sairadses) aghan
S0[6° 3 8BS TPl Heorheron?

Options:
CH:s
H . OH
) OCH;
1. %
CH;

Ho et 11,0H

{]:'.Hg
=
CH;
2.V
3. -
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o
s
i

CH:
OCH;

CH;

H:CH.CH:C o et O
CH,

CH;j;

Question Number : 122 Question Id : 8135612042 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In NaCl crystal. the coordination number of Na™ is

NacCl ;:beasoﬁ* Nat R200L0H Vog)f Dod?

Options:
1, % 12
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Question Number : 123 Question Id : 8135612043 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Phenol cannot be distinguished from ethanol by the reaction with

RBIS Aoé DTS A0 DA WBLAL & $od TIY° D T°6%0 GHIIANEE?

Options :
lodine and alkali
1 % AT ED SB0%w 8o

Neutral ferric chlornde

Be3 DOS §0&
2. % a i

Bromuine water

3 % 8D 2o

Tollens reagent

Question Number : 124 Question Id : 8135612044 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The outer electronic configuration of Cu?¥ is

cu?t B0E), e°EF] JTTD Da“éroma

Options :
1 % 3P gt
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5 % 3d” 4s*

5 % 3d° 452

4 v 3d” 4s°

Question Number : 125 Question Id : 8135612045 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a buffer solution containing equal concentration of B~ and HB. the K, for B~ is 1072,
Then. pH of the buffer solution 15

28 00 Gronans” VAT medw fo B~ ook HB $8 &7 ow. B~ 9 K, dend
1078 0@ & w6 Trdesw pH dod?

Options :

1. % 8

Question Number : 126 Question Id : 8135612046 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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H,S80, is prepared by first dissolving S0, i a small amount of sulphuric acid to form oleum

and then 1t 1s diluting with water, S05 is not directly dissolved in water because

007\ 05 5300 S0866" B0 S0; 0 EBI e: oeiry B8 5o’ $00d), B0ty
B3, & 3G DOE IBo B, S0; 3 DBS" 3dre Do BoET 3PS o

50830

Options :
505 1s sparingly soluble in water

| x 503 DOS” B2 D S

The dissolution of sulphuric acid is exothermic

- SEUNCE 295 6] & AT 156y

A dense fog of sulphuric acid will be formed which will not condense quickly

- GO ‘an%ﬁé €503 T (i) bn:,mm, laNeioy Qbédmo WOt

None of these answers are correct

n 2 2aT°e) POALDG 5D

Question Number : 127 Question Id : 8135612047 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Matching the following

SoBT°AR &dh Dt
Reaction Conditions Name of the reaction
e OB 365 56
-]

a)

CH: 1) Gatterman - Koch

CrOCh. CS
s (62953
H;O"

b)

0

KCl . i1) Etard

—— 276
Pd-BaS04
CH;
c)
CO.HCl i11) Rosenmund
anhyd. AlCl; / CuCl 88 20006
OFC. AlCl: / CuCl
Options :

| % (a—iii):(b—=i);(c—1)

5 (a—ii):(b—iii); (c—1)
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3 % (a—i) ; (b—iii); (c—1ii)

4 % Ca=ii) ; (b—=i) ; (e—iii)

Question Number : 128 Question Id : 8135612048 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In electrolysis of acidic water. 10 A current is passed for 200 seconds. The total volume of
the gases evolved at the electrodes at NTP 1s

2,8 2520008 207) 104 Desogdord GdAIrAeD) 200 Deog rtw DAIAIFRRAN B
NTP bcg Qvg (AL ;f}cé;} Dd}fﬁ@dﬂ)}g TP030)L 0B ANVATE0 dod?

Options:
1 % 320ml

> % 230ml
3 ¢ 348 ml

4 = 120ml

Question Number : 129 Question Id : 8135612049 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

With which of the followmg elements Boron shows diagonal relationship?
$08708" D Jreged 507D §6R0LET) BrBIA?

AP EAMCET 2020



Options :
1. % Mg

> % Ga

4 v Si

Question Number : 130 Question Id

AP EAMCET 2020

: 8135612050 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

KMn0, on treatment with conc.H,S50, forms a compound X, which decomposes explosively

on heating, forming Y. Compounds X and Y respectively are

w6 H,50, & KMnO, thqS BHIT “ro;ﬁ:aé#(‘-bo X Dt:’n;)ci&m‘:&, 0800 X' & St

AT J0irio Bl Y R 3)636.‘1{\}30&. X 00080 Y Sdwrre

Options:

1@ Mn,0; & MnO,

> % MHEOS & MHOE

3 % Mn,0 & Mn,0;

4 % MnS0, & Mn,04

Question Number : 131 Question Id

: 8135612051 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A hydrocarbon CgHy, absorbs only one molecule of H, upon catalytic hydrogenation. Upon
ozonolysis. the hydrocarbon gave “hexane dial”. Identify the hydrocarbon.

po ot 563 CoHyp TERNSENS 28 w8 H, 0@ Faotooted. HETUAR :3656‘

08 “ P80 & 68 " 20 9D\0B. & E T°6)D A hdetsol.

Options:
Cyclohexane

Eéﬁ_ﬁ" S :.,5

Benzene
. oD

Cvclohexene

2ES S

Cyclobutene

Question Number : 132 Question Id : 8135612052 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct increasing order of metallic character of the elements Be, Mg, P,

Be, Mg, P o), &"ardaiaw emrdinr 0BT PO es8ire A7y BodC.

Options :

1.« P<Be<Mg
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Question Number : 133 Question Id : 8135612053 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following combinations come under Dobereiner’s triads?

& $08 T°S5° D Do BETH6 HSHD?

Options :

. o Li, Na, K

2. %
3 = ClL Br, F
4 = Na, K, 5r

Question Number : 134 Question Id : 8135612054 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The number of spectral lines that are possible when electrons in the 5™ shell in hydrogen

ﬂ;!ld

atoms return to 2 shell 1s

TEB HOATEHVS'D 5 gomﬁ‘ma‘:l TR 2 g"om.‘i" 300 BOIYC Vo
wb.l DGR o Dot

Options :

1.% 8

2.33 ]_0

4, &

Question Number : 135 Question Id : 8135612055 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In solutions. the osmotic pressure is directly proportional to

SO0 ST DR Do &) 09065 AR Fredoes” Eocad.

Options:
Elevation in boiling point

L]
- 2" BDD gﬂé &0 D

Diffusion rate of the solute

_ oo TR0 Bew

lonic concentration

3 @ DO TED
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Depression m freezing point

DDBID D SEUE
4. % 9

Question Number : 136 Question Id : 8135612056 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Chemically. Borax 1s

Sraf eS0T ESGCFEJ DAt

Options :
Sodium metaborate

|« TEodo 2oer &5°5E

Sodium orthoborate

D*Eodoo es8 257565
2. % @

Sodium tetra borate decahydrate
_— J'c.odo EEP 5788 aT e

Sodium hexaborate

Feodo sy 57565
4, %

Question Number : 137 Question Id : 8135612057 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the equation KBr0; + 5KBr + 6HNO; —— 6KNO; + 3Br, + 3H,0. Calculate
the amount of KBr0, required. in moles. to produce 0.07 moles of Br,.

KBrO; + 5KBr + 6HNO; —— 6KNO; + 3Br, + 3H,0 6{&° 0.07 206 © Br,
SAFGrHLS ) e KBr0; 8d60?

Options :
1. % 0.22

5« 0.02
3 % 0.07

4 % 0.21

Question Number : 138 Question Id : 8135612058 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When Zeolite, which 1s hydrated sodium aluminum silicate, is treated with hard water, the
sodium 1ons are exchanged with which of the following 1on(s)?

20O (ug Féose enAahd HOES) L €82 2wa0d B[ 8O Jéabo
904 R0E 470G Bod eairaen 20)?

Options:
1. % H*

> % OH"

3 wcﬂz-!-
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4. % S04

Question Number : 139 Question Id : 8135612059 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dihydrogen can be prepared on commercial scale by different methods. In its preparation by
the action of steam on hydrocarbons, a mixture of CO and H, gas 1s formed. This mixture is

commonly known as

Tidug 0006 ErEad DA ge00d” Sord ST, TESO3D 8 D0 B
S0R €0, Hy rainidp abgnsn oy, o T DT

Options :
Coal gas

) gﬁrréia
1. %

Syngas
DR T4
2.
Producer gas

- @“ciréx:nﬁ LS

Industrial gas

BT AL LSS
4, %

Question Number : 140 Question Id : 8135612060 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Bayer’s reagent 1s used in

e300 5657 2 &DATAI O

Options :
Reduction
1 = £03088ea00

Oxidation

5 % U%DSGEQIDJ

Detection of double bond

&Smoqs"um (LBotL)
3.v .

Detection of glucose

L w (8D & (8ot

Question Number : 141 Question Id : 8135612061 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

[UPAC name of the following compound is

S0 R3) e cing); TUPAC Sraodm

H.C = CH, — CH, — CH — CH, — COOH
|
NH,

Options :
2-amino acid
. 2-e02 S 32050
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Hexane-2-amino acid
::°§;35-2-th3 e300

3-amino-hexanoic acid
3-e020 S -:J“S:.,S o e300

2-hexane-carboxylic acid

4 % 2-:J°§D5-E°E):j§:]g§ U%JD.JJ

Question Number : 142 Question Id : 8135612062 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the group-14 element does not react with water or steam?

808 (D-14 Jorosed’ D& Do Jor DS 36 6§ Josed?

Options:

4 v PD

Question Number : 143 Question Id : 8135612063 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is not an example of redox reaction?

dod T°e5° D 36y aé{ﬁdm-ioﬁﬁﬂm WL &O7ir0e 707

Options :
1 & CuO+H; —— Cu+H,0
> % Fe;0; +3C0 — 2Fe +3C0,

2K + F, 2KF

3. %

4. BaCl, + H,50, — BaS0, + 2HCI

Question Number : 144 Question Id : 8135612064 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An isomer of propanol among the following 1s

2oBT°S” THIS D 28 JrcyBom

Options:
Ethyl methyl ether
| AR DB Hd

Diethyl ether

L« & 005 &6

Acetone

5 5 DD

4. %
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Propanal

TS

Question Number : 145 Question Id : 8135612065 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the boiling point of bromine. Given AH” and AS® values for Bry ;) —— Bry (g

are 30.91 kJ.mol™* and 93.2 . K~ mol~* respectively. Assume AH and AS do not change

with temperature.

Bry (1) — Bry (g) ©56{8> AH° ba AS® Dewidew 600 30.91 k I.mol™ SoBako
93.2 1K .mol™ eand Br, St et titdocsoct. (AH Sodosw AS & tsd
DAy BoBan) eraotdot )

Options:
1.« 33L6K

, % 300K
3 % 298K

4 % 350K

Question Number : 146 Question Id : 8135612066 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The nature of colloidal solutions of starch and haemoglobin respectively are and

6y Sobasw rArHAS Fgrond TIEY AT HGAIT S0Bokw
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Options :
Positive. Negative

. cﬁa“’@ééo, merejéso
1.

Positive. Positive

. c;’;aﬂez’eés::, C{JZ&“@&S:&
2.

Negative. Positive

mw@ésm ﬁ?@éSG
3.¢

Negative, Negative

amm“eééﬁn, amrr@%'sﬂ
4, %

Question Number : 147 Question Id : 8135612067 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the concentrations of 4, B, C at equilibrium in the reaction 34 + B = 2C 4 D are 0.03.
0.01 and 0.008 moles/litre respectively, calculate the initial concentrations of A. B.

3A+B =2C+D t‘.’)dﬁﬁ‘ :omwi'ge:e- 26 A, B 20doin (o meden ddwrr 0.03,0.01

20800 0.008 25/ D26 wawd, 4, B © 860z MESVA ool

Options :
1@ [A] =0.042 M & [B]=0.014M

5 % [A] =042M & [B]=0.014M

, » [A1=0042M & [B]=0.14M
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4 % [A] =42 M & [B]=14M

Question Number : 148 Question Id : 8135612068 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identity the starting material (1) and product (111) in the following

$08 TAS" 6oz VLGN (i) WIBODO D) A0 (jii) B> otSel

Na. dry ether
>
Na. 57 8:650
R—X —
: Mg, dry ether D.0
(1) - > (il —> (i
Options :

i) (iif)

) (111)

) {1 T (iid) .
E""f/ \Br

(
’|_ S

(i
2. ®

(i
3. ¢
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@® B (i) p

Question Number : 149 Question Id : 8135612069 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The monomer units found in starch 1s

Ty &° o &6 oL ID?
Options :

p — D —Glucose
|« B—D-0rE%

a — D —Glucose
, » @a—D—0or§&
a — D —Fructose

, a—D —;_:ggzﬁ

B — D — Fructose

L« B —D-0ES

Question Number : 150 Question Id : 8135612070 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The surface tension of lyophilic sols 1s

oS8 e o SB[

Options :
Equal to that of water

- 56 emag&*‘ 2T D AN

More than that of water

- 5He3 BSOS Soth DD

Lower than that of water

56 DSBS Sod B D
3. %

Much higher than that of water

. 53 BOBJ(S Sl T JED

Question Number : 151 Question Id : 8135612071 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The lowest layer of atmosphere, which is approximately 10 km from sea-level 1s

P0G D820 R000) AT 10 km S’ o T 60 9D ol TG AB?

Options :
Stratosphere
Fe5" €556

1.%

Troposphere

5 @ £5°3)° e35880
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Mesosphere

3 % N es 58880

Hyvdrosphere

TE 39682

Question Number : 152 Question Id : 8135612072 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following molecules do not contain sp® hybrid orbitals?

306 AT TR’ sp° Des B, ErdRd DIETAE IS I&?

Options:
Diamond

1% 20

Vinyl chloride
, o DD §BE

Methanol
3 % DBSS

Propane

g % TDD

Question Number : 153 Question Id : 8135612073 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The drawback of consuming excess hydrogen carbonate as an antacid 1s

035 DEHT AEAVT FERD sﬂﬁﬁaéwm EDHABTAoti0e’ 5 DA Daed?

Options:
It 15 insoluble

| % 6 SR

It can make stomach alkaline and trigger the production of even more acid

0 AEE 320 FOOWS0 B 2Bod AT 2o BowLES” BirEDEIBS
2.¥

It causes ulcer

3 % V0 S SESIWD VDSBS

It causes pain and irritation

, w08 Sy, ereso $DNRVeB

Question Number : 154 Question Id : 8135612074 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following sets of quantuim numbers is not allowed?

20832¢5° D S0 Road DA 9IS TotILIE D ?

Options :

- n=4 [=3, m=-3, s=4%
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Question Number : 155 Question Id : 8135612075 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Standard enthalpy of vaporization AH,,,, for water at 100 °C is 40.66 kJ.mol L, The internal energy

of vaporization of water at 100 °C (in kI.mol™%) is (Assume water vapor to behave like an
ideal gas)

100°C 3¢ 8 a7 e @ oty Devd 40.66 kI.mol™ . 100°C 368 A cwg, wossds
9% 38 (kI.mol ! &) (3 2503 £330\ T80 DI Eiotnocs a7 octodt)

Options:

| x +43.76

5 % +40.66

3« +37.56

4 % —43.76

Question Number : 156 Question Id : 8135612076 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the preparation of soap. which of the following raw materials undergo alkaline hydrolysis?

SV Aaird H300e° $oBTAS” @ Jwé mgm 6 20 J3e Dot ?

Options :
Heavy oils
1 % @0 AP

Natural fat

5 ¥ DI e

Glycol

Qs**e_‘i
3. % =

Wax

SR

Question Number : 157 Question Id : 8135612077 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A gas “X" 1s used to purify air i cinema halls. It is also used as germicide for sterilizing

water and it converts black PhS mto a colorless compound. X’s allotrope “Y™ reacts with dry

potassinm metal forming a yellow solid “Z”. Identify X. Y. Z.

X @9 T080ND) QA ¥ &' D HBRBAN BV TG B0k B
SEPSA0 BAOLL SRTFBET GHAFAFE. 96 J0 T& ROYG A Gord &)
:Jr::"g;hnrr' SEND. T Eraroddan Y Fernobo &ired 2ol Tol HRNLY) Gord L&
ﬁm“g;ﬁn AR Ddbdacﬁ)m. X, 'Y, Z 0k hBetiod.
Options :

1' v 031 OZ' KOE
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) OZ: OEJ KOE

o % 03 0y KOs

0,, 03, KO,

Question Number : 158 Question Id : 8135612078 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equilibrium constant for the reaction the A, () + By (g) = 248 gy 1s ‘K. The

equilibrium constant for the reaction 24B 4y + By (g) = 24B; (g) 1s ‘K. Find the

equilibrium constant ‘K", for the reaction 4B, ) = 5}12 (g) T Ba(g interms of Ky, K

Az (g) T Ba(g) = 248y r:ﬁd}g&‘o mmwi@:@ ?gc"oSo ‘K" 20bain

24B gy + By (4) = 24B, ﬂ')d?SSJ :}mw?g@ f’gﬂ“oéo‘f{z‘ eoa,

AB; () r—‘%f]z (g) T Bag) :.’36553 “com@“f'g@ ?gU"oSo (‘K’) A Ky, K, 0" dedoed.
Options:

1
2K, K,

1. %

4. &
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=]

Question Number : 159 Question Id : 8135612079 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Kf[aq;,‘t‘ 12 _— ?

Klgoy + [, —— 7

Options:

1 % KI5

> Ki;
3 % [

.« KD

Question Number : 160 Question Id : 8135612080 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Room temperature phase diagram of €0, 1s given below. If at 3.8 atm, the temperature of
the system 1s decreased from —57 °C to —78 °C, what type of phase transformation will the
system undergo?

E“t‘.‘:afs [ e.sgjé({?(}z) 03.1)535 E.gﬁciej. &% Sfu“t‘b:] B D BrD '&;55&)&‘\‘)&3. 3.8 atm

HEB30 36 ;35:)?‘0 &8 —57°C Aot —78°C £ SAY, ETQ}DGJ L] ;55;5‘&3 Tod &%
@ [} 02 [}

.;iu*’de Daned?

Diagram not drawn to scale

iairian fabms.} Aobeceico

3
—78°C —57°C T

Options :
Condensation
| PODDD Dot

Deposition / reverse sublimation

8920570 (856 ) &\ B0 Voo
, o TPPR(B50y) &3y °

Sublimation
3 % Eébééa.‘m ot

Condensation then solidification

. x ROR0DD Bod SHOTS DB orsercddo
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